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Abstract. The Fourier transform of general stochastic measures in d is defined. The inversion
theorem for this transform is proved, connection with convergence of stochastic integrals is established.
Example of applying for convergence of solutions of stochastic heat equation is considered.
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∫
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∫
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/ d∏
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C ĥ(t)

ψC(U, x) =
d∏

k=1

(vk − uk)
∫

Rd

e2πi〈x,t〉ĥ(t) dt
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∫

R

p(x − y, t)u0(y) dy +
∫
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∫
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∫

R

dμn(y)
∫ t

0

p(x − y, t − s)σ(y, s) ds .

(x, t) ∈ R × [0, T ]

un(x, t) P→ u(x, t), n → ∞,
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∫ t

0

p(x − y, t − s)σ(y, s) ds .

f ∈ C0

f �




